

A Solution to the Langmuir Wave Equations Using Solitary Wave Methods

F. Fonseca

Universidad Nacional de Colombia
Departamento de Física
Bogotá, Colombia

This article is distributed under the Creative Commons by-nc-nd Attribution License.
Copyright © 2021 Hikari Ltd.

Abstract

In this paper, we use solitary wave methods for the solution of the non-linear one-dimensional Langmuir wave equations, finding several families of solutions.

Keywords: Langmuir wave equations, Tanh method, Riccati solutions

1 Introduction

The Langmuir waves is an important research field in plasma media. We can find studies in collapse waves [1], stability of plasma solitons [2]-[3], envelope solitons in solar bursts [4], among others. Moreover, the solitary wave methods, [5], have become very popular and widespread analytical tools, capable of finding solutions to nonlinear partial differential equations. In this work, we solve the Langmuir wave equations using the Tanh method [5] and the solutions of the Riccati equation [6].

2 Solitary wave solution

The Langmuir wave equations [1], in one dimension, are:

$$i\frac{\partial E}{\partial t} + \frac{\partial^2 E}{\partial x^2} - 2k_1 E n = 0 \quad (1)$$

$$\frac{\partial^2 n}{\partial t^2} - \frac{\partial^2 n}{\partial x^2} - k_2 \frac{\partial^2 E^2}{\partial x^2} = 0 \quad (2)$$

Using

$$\xi = x - at \quad (3)$$

The derivatives are:

$$\frac{\partial}{\partial t} = -a \frac{\partial}{\partial \xi}; \quad \frac{\partial}{\partial x} = \frac{\partial}{\partial \xi}; \quad \frac{\partial^2}{\partial x^2} = \frac{\partial^2}{\partial \xi^2} \quad (4)$$

So, eqs. (1) and (2)

$$-ai \frac{\partial E}{\partial \xi} + \frac{\partial^2 E}{\partial \xi^2} + 2k_1 E n = 0 \quad (5)$$

$$a \frac{\partial^2 n}{\partial \xi^2} + \frac{\partial^2 n}{\partial \xi^2} + k_2 \frac{\partial^2 E^2}{\partial \xi^2} = 0 \quad (6)$$

Now, we apply the tanh method [5]. Then, we introduce an independent variable:

$$Y = \tanh(\mu\xi) \quad (7)$$

The derivatives of ξ in terms of Y , are:

$$\frac{d}{d\xi} = \mu(1 - Y^2) \frac{d}{dY}, \quad \frac{d^2}{d\xi^2} = -2\mu^2 Y(1 - Y^2) \frac{d}{dY} + \mu^2(1 - Y^2)^2 \frac{d^2}{dY^2} \quad (8)$$

The solutions are postulated [5] as:

$$E = \sum_{i=1}^n a_i Y^i, \quad n = \sum_{i=1}^m b_i Y^i \quad (9)$$

Now, using eqs. (8) in eqs. (5) and (6), we get:

$$\begin{aligned} & -ai\mu(1 - Y^2) \frac{dE}{dY} - 2\mu^2 Y(1 - Y^2) \frac{dE}{dY} + \mu^2(1 - Y^2)^2 \frac{d^2 E}{dY^2} \\ & + 2k_1 E n = 0 \end{aligned} \quad (10)$$

$$\begin{aligned}
& (a+1)(-2\mu^2 Y(1-Y^2) \frac{dn}{dY} + \mu^2(1-Y^2)^2 \frac{d^2 n}{dY^2}) \\
& -2\mu^2 Y(1-Y^2) \frac{d(E^2)}{dY} + k_2 \mu^2 (1-Y^2)^2 \frac{d^2(E^2)}{dY^2} = 0
\end{aligned} \tag{11}$$

The parameters m and n , in eqs. (9), are obtained by applying the balance principle between the highest-order linear derivative with the highest nonlinear term in eqs. (10) and (11). So, we have:

$$Y^4 \frac{d^2 E}{dY^2} \rightarrow En \rightarrow n+2 = m+n \rightarrow m=2 \tag{12}$$

$$Y^4 \frac{d^2 n}{dY^2} \rightarrow Y^4 \frac{d^2(E^2)}{dY^2} \rightarrow m+2 = 2n+2 \rightarrow n=1 \tag{13}$$

Then, eqs. (10) and (11), are:

$$E = a_0 + a_1 Y \rightarrow E^2 = a_0^2 + 2a_0 a_1 Y + a_1^2 Y^2 \tag{14}$$

$$n = b_0 + b_1 Y + b_2 Y^2 \tag{15}$$

Replacing

$$\begin{aligned}
& -ai\mu(1-Y^2)a_1 - 2\mu^2 Y(1-Y^2)a_1 \\
& +2k_1(a_0 + a_1 Y)(b_0 + b_1 Y + b_2 Y^2) = 0
\end{aligned} \tag{16}$$

$$\begin{aligned}
& (a+1)(-2\mu^2 Y(1-Y^2)(b_1 + 2b_2 Y) + \mu^2(1-Y^2)^2 2b_2) \\
& -2\mu^2 Y(1-Y^2)(2a_0 a_1 + 2a_1^2 Y) + k_2 \mu^2 (1-Y^2)^2 2a_1^2 = 0
\end{aligned} \tag{17}$$

Collecting the coefficients, in eqs. (16) and (17), in powers of Y^i and equating to zero, we get a set of nonlinear equations. Then, doing some algebra, we get:

$$\left\{ a_0 = 0, a_1 = 0, a = -1, \mu = -i\sqrt{b_2}\sqrt{k_1} \right\}, \tag{18}$$

$$\left\{ a_0 = 0, a_1 = 0, a = -1, \mu = i\sqrt{b_2}\sqrt{k_1} \right\}, \tag{19}$$

$$\left\{ b_1 = \frac{2a_0b_2}{a_1}, a = \frac{-a_1^2 - b_2}{b_2}, \mu = 0, k_1 = 0, k_2 = 1 \right\}, \quad (20)$$

$$\left\{ a_1 = -i\sqrt{b_2}, b_1 = 2ia_0\sqrt{b_2}, a = 0, \mu = 0, k_1 = 0, k_2 = 1 \right\}, \quad (21)$$

$$\left\{ a_1 = i\sqrt{b_2}, b_1 = -2ia_0\sqrt{b_2}, a = 0, \mu = 0, k_1 = 0, k_2 = 1 \right\}, \quad (22)$$

$$\left\{ a_0 = 0, a_1 = -i\sqrt{b_2}, b_0 = -b_2, b_1 = 0, a = 0, \mu = -i\sqrt{b_2}\sqrt{k_1}, k_2 = 1 \right\}, \quad (23)$$

$$\left\{ a_0 = 0, a_1 = -i\sqrt{b_2}, b_0 = -b_2, b_1 = 0, a = 0, \mu = i\sqrt{b_2}\sqrt{k_1}, k_2 = 1 \right\}, \quad (24)$$

$$\left\{ a_0 = 0, a_1 = i\sqrt{b_2}, b_0 = -b_2, b_1 = 0, a = 0, \mu = -i\sqrt{b_2}\sqrt{k_1}, k_2 = 1 \right\}, \quad (25)$$

$$\left\{ a_0 = 0, a_1 = i\sqrt{b_2}, b_0 = -b_2, b_1 = 0, a = 0, \mu = i\sqrt{b_2}\sqrt{k_1}, k_2 = 1 \right\}, \quad (26)$$

$$\left\{ a_0 = a_1, b_0 = -3b_2, b_1 = 2b_2, a = \frac{-a_1^2 - b_2}{b_2}, \right. \quad (27)$$

$$\left. \mu = -\frac{(a_1^2 + b_2)i}{6b_2}, k_1 = -\frac{(a_1^2 + b_2)^2 i^2}{36b_2^3}, k_2 = 1 \right\},$$

$$\left\{ a_0 = -a_1, b_0 = -3b_2, b_1 = -2b_2, a = \frac{-a_1^2 - b_2}{b_2}, \right. \quad (28)$$

$$\left. \mu = \frac{(a_1^2 + b_2)i}{6b_2}, k_1 = -\frac{(a_1^2 + b_2)^2 i^2}{36b_2^3}, k_2 = 1 \right\}$$

We find eleven families of solutions using Tanh method.

	A	C	F
1	1/2	-1/2	$\coth(\xi) \pm \cosh(\xi), \tanh(\xi) \pm \operatorname{isech}(\xi)$
2	1/2	1/2	$\sec(\xi) \pm i \tan(\xi)$
3	-1/2	-1/2	$\csc(\xi) \pm i \cot(\xi)$
4	1	-1	$\tanh(\xi), \coth(\xi)$
5	1	1	$\tan(\xi)$
6	-1	-1	$\cot(\xi)$

Table 1: Solutions for eqs. (??)-(??)[6] .

3 Solitary wave solution 2

Also, we apply the method given in [6], in order to find solutions to $E(\xi)$ and $n(\xi)$, then:

$$E = \sum_{i=1}^n a_i F^i, \quad n = \sum_{i=1}^m b_i F^i \quad (29)$$

Here F satisfies, table (1), the Riccati equation, i.e.

$$\begin{aligned} F' &= CF^2 + A \rightarrow F'' = C2FF' = 2CF(CF^2 + A) \\ &= 2C^2F^3 + 2ACF \rightarrow F''' = 6C^3F^4 + 8AC^2F^2 + 2A^2C \end{aligned} \quad (30)$$

Where A and C are constants, table (1). Replacing in eqs. (5) and (6), and taking $m = 2$ and $n = 1$, we get, $E = (a_0 + a_1F)$ and $n = (b_0 + b_1F + b_2F^2)$. So:

$$\begin{aligned} E' &= b_1F' = b_1CF^2 + Ab_1 \\ E'' &= 2b_1CF(CF^2 + A) = 2b_1C^2F^3 + 2Ab_1CF \\ E^2 &= (a_0^2 + 2a_0a_1F + a_1^2F^2) \\ (E^2)' &= C2a_0a_1F^2 + A2a_0a_1 + 2Ca_1^2F^3 + 2Aa_1^2F \\ (E^2)'' &= (4Ca_0a_1 + 6Ca_1^2F^2 + 2Aa_1^2)(CF^2 + A) \end{aligned} \quad (31)$$

And

$$\begin{aligned} n' &= b_1F' + 2b_2FF' = b_1A + 2Ab_2F + b_1CF^2 + 2Ca_2F^3 \\ n'' &= (2Ab_2 + 2b_1CF + 6Cb_2F^2)(CF^2 + A) \end{aligned} \quad (32)$$

Replacing in eqs. (5) and eq. (6), and again doing some algebra

$$\{a_0 = 0, b_1 = 0, a = \frac{-b_2 - a_1^2 k_2}{b_2}, k_1 = 0\} \quad (33)$$

$$\left\{ a_0 = -\frac{i\sqrt{A}a_1}{\sqrt{C}}, b_0 = \frac{Ab_1 i}{2AC - i\sqrt{A}\sqrt{C}i}, b_2 = \frac{2(-2i\sqrt{A}b_1 C^{3/2} + b_1 C i)}{4AC + i^2} \right. \quad (34)$$

$$\left. a = -1, k_1 = -\frac{i(2\sqrt{A}C^{3/2} - i C i)}{2a_1}, k_2 = 0 \right\}$$

$$\left\{ a_0 = \frac{i\sqrt{A}a_1}{\sqrt{C}}, b_0 = \frac{Ab_1 i}{2AC + i\sqrt{A}\sqrt{C}i}, b_2 = \frac{2(2i\sqrt{A}b_1 C^{3/2} + b_1 C i)}{4AC + i^2} \right. \quad (35)$$

$$\left. a = -1, k_1 = \frac{i(2\sqrt{A}C^{3/2} + i C i)}{2a_1}, k_2 = 0 \right\}$$

Then, we get eighteen families of solutions using Ricatti method.

4 Solitary wave solution 3

Following the solution proposed in [7]:

$$E(x, t) = f(\xi)e^{i(p\xi - qt)}, \quad \xi = x - at \quad (36)$$

And replacing in eqs. (5)-(6), we get:

$$\frac{d^2 f}{d\xi^2} + i(2p - a)\frac{df}{d\xi} + (q - p^2 + 2k_1 n)f = 0 \quad (37)$$

$$(a^2 - 1)\frac{d^2 n}{d\xi^2} - k_2 \frac{d^2 f^2}{d\xi^2} = 0 \quad (38)$$

And integrating two times in eq. (38), assuming the integration constants as zero, and replacing n in eq. (37), yields

$$\frac{d^2 f}{d\xi^2} + i(2p - a)\frac{df}{d\xi} + (q - p^2)f + \frac{2k_1 k_2}{a^2 - 1}f^3 = 0 \quad (39)$$

Also, applying the tanh method [5], used in section (2), we look for solutions as $f = a_0 + a_1 Y$, we obtain:

$$\left\{ a_0 = 0, a_1 = -\frac{\sqrt{\mu^2 - a^2\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, q = \frac{1}{4}(a^2 + 8\mu^2), p = \frac{a}{2} \right\}, \quad (40)$$

$$\left\{ a_0 = 0, a_1 = \frac{\sqrt{\mu^2 - a^2\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, q = \frac{1}{4}(a^2 + 8\mu^2), p = \frac{a}{2} \right\}, \quad (41)$$

defining $l_1 = a^2i^2 - 12ai\mu + 36\mu^2 + 32i^2\mu^2$ and $l_2 = a^2i^2 + 12ai\mu + 36\mu^2 + 32i^2\mu^2$

$$\left\{ a_0 = -\frac{\sqrt{\mu^2 - a^2\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, a_1 = -\frac{\sqrt{-(-1 + a^2)\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, q = \frac{l_1}{4i^2}, p = \frac{ai - 6\mu}{2i} \right\}, \quad (42)$$

$$\left\{ a_0 = \frac{\sqrt{\mu^2 - a^2\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, a_1 = \frac{\sqrt{-(-1 + a^2)\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, q = \frac{l_1}{4i^2}, p = \frac{ai - 6\mu}{2i} \right\}, \quad (43)$$

$$\left\{ a_0 = -\frac{\sqrt{\mu^2 - a^2\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, a_1 = \frac{\sqrt{-(-1 + a^2)\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, q = \frac{l_2}{4i^2}, p = \frac{ai + 6\mu}{2i} \right\}, \quad (44)$$

$$\left\{ a_0 = \frac{\sqrt{\mu^2 - a^2\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, a_1 = -\frac{\sqrt{-(-1 + a^2)\mu^2}}{\sqrt{k_1}\sqrt{k_2}}, q = \frac{l_2}{4i^2}, p = \frac{ai + 6\mu}{2i} \right\}, \quad (45)$$

So, we obtain six families of solutions.

5 Conclusions

We solve the Langmuir wave equations using solitary wave methods. We get eleven families of solutions using Tanh method, and eighteen families of solutions using Ricatti solutions. Also, using the postulated solution, we obtain six families of solutions, again applying the tanh method. As a future work, we can look for solutions of the model extended to higher dimensions.

$$\begin{aligned} E(x, t) &= a_0 + a_1 \tanh(\mu(x - at)), \\ n(x, t) &= b_0 + b_1 \tanh(\mu(x - at)) + b_2 \tanh(\mu(x - at))^2 \end{aligned} \quad (46)$$

$$E(x, t) = a_0 + a_1 F(x - at), \quad n(x, t) = b_0 + b_1 F(x - at) + b_2 F^2(x - at) \quad (47)$$

$$\begin{aligned} E(x, t) &= (a_0 + a_1 \tanh(\mu(x - at)))e^{i(p\xi - qt)}, \\ n(x, t) &= \frac{2k_1 k_2}{a^2 - 1} (a_0 + a_1 \tanh(\mu(x - at)))^2 \end{aligned} \quad (48)$$

Acknowledgements. This research was supported by Universidad Nacional de Colombia in Hermes project (42840).

References

- [1] V. E. Zakharov, Collapse of Langmuir Waves, *Soviet Physics-JETP*, **35** (5) (1972), 908-914.
- [2] J. Denavit, N. R. Pereira, and R. N. Sudan, Two-Dimensional Stability of Langmuir Solitons, *Phys. Rev. Lett.*, **33** (24) (1974), 1435-1438.
<https://doi.org/10.1103/PhysRevLett.33.1435>
- [3] E.A. Kuznetsov, A.M. Rubenchik, and V.E. Zakharov, *Physics Reports (Review Section of Physics Letters)*, **142** (3) (1986), 103-165.
[https://doi.org/10.1016/0370-1573\(86\)90016-5](https://doi.org/10.1016/0370-1573(86)90016-5)
- [4] G. Thejappa M. L. Goldstein R. J. MacDowall K. Papadopoulos R. G. Stone, Evidence for Langmuir envelope solitons in solar type III burst source regions, *Journal of Geophysical Research*, **104** (A12) (1999), 279-293. <https://doi.org/10.1029/1999JA900363>
- [5] W. Malfliet and W. Hereman, The Tanh Method: I. Exact solutions of Nonlinear Evolution and Wave Equations, *Physica Scripta*, **54** (1996), 563-568. <https://doi.org/10.1103/PhysRev.94.511>
- [6] E.S. Fahmy, Exact solution of the generalized time-delayed Burger's equation through the improved tanh-function method,
<http://faculty.ksu.edu.sa/72323/Publications/Paper.pdf>
- [7] J. Zhang, Variational approach to solitary wave solution of the generalized Zakharov equation, *Computers and Mathematics with Applications*, **54** (2007) 1043-1046. <https://doi.org/10.1016/j.camwa.2006.12.048>

Received: January 1, 2021; Published: January 15, 2021